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FOREWORD

The National Examinations Council of Tanzania is pleased to issue this report on
the Candidates' Items Responses Analysis Report for Geography Subject on the
Certificate of Secondary Education Examination (CSEE) 2018. The report has
been prepared in order to provide feedback to Secondary School candidates,
teachers, Educational policy makers, parents and other educational stakeholders on
the candidates' performance and how well the instructional goals objectives were
met.

The Certificate of Secondary Education Examination (CSEE) is a summative
evaluation which assesses the effectiveness of general system of education and the
mode of education delivery in Tanzania Secondary School.

In this report, factors which influenced the candidates to answer the question
correctly/incorrectly have been identified. The analysis shows that the candidates
with high performance provided appropriate responses since they were able to
identify the demand of each question, they had enough knowledge on the subject
matter and they had adequate skills on essay writing, mathematical calculation, in
reading and interpreting information from topographical map, photograph and
statistical graph, they also had good mastering of English Language. The
candidates with low score lacked such qualities. The analysis of each question has
been done in order to show the strengths and weaknesses of the candidates in
answering the questions.

The National examinations Council of Tanzania will highly be grateful for
comments and suggestions from educational administrators, school managers,
teachers, students and public in general that can be used for improving future
Students' Item Response Analysis Report.

Lastly, the Council would like to express sincere gratitude to all stakeholders who
provided valuable assistance in the preparation of this report.

A

Dr. Charles E Msonde
EXECUTIVE SECRETARY



1.0

INTRODUCTION

This report is based on the analysis of the performance of candidates' item
response for the Form Four Certificate of Secondary Education Examination
(CSEE) November 2018. The Geography paper covered the syllabus and
adhered to examination format.

The CSEE Geography paper consisted of twelve (12) questions which were
categorized into four sections, namely; A, B, C and D. Sections A, B and C
had eight (8) compulsory questions while section D consisted of four (4)
questions which were set into two parts (I and Il) and the candidates were
required to choose one question form each part. The candidates were required
to attempt a total of the ten (10) questions.

The analysis of performance in individual items is presented by indicating the
percentages of those who attempted the question and those who scored
various marks. The focus is on the percentage of students with high marks,
average marks and low marks. Extracts of responses from the candidates
scripts have been presented to show how they responded in view of the
demand of the question.

The criteria used in the analysis are as follows. The performance is
considered to be Good, Average or Weak if the percentage of the candidates
scored marks from 65 — 100 (green), 30 — 64 (yellow) and 0 — 29 (red)
respectively. The samples of the candidates’ responses are inserted as
extracts to represent good, average and weak cases. Tables, graphs and charts
are used to summarize the candidates’ performance in percentage for a
specific question. Appendix 1 shows comparison of the candidates’
performance in percentage between CSEE 2017 and 2018 in terms of topics.

A total of 359,445 candidates sat for the Geography paper for the Certificate
of Secondary Education Examination (CSEE) in 2018 of which 18,9525
(53.03 %) passed the examination and 46.97 percent failed the examination
by scoring F, while in 2017 the total of 316,564 candidates sat for the CSEE
paper of which 167,505 (53.18%) passed the examination and 46.82 percent
failed. This indicates that the performance of the candidates in CSEE for the
year 2018 decreased by 0.15 percent compared to the 2017 results.

Finally, the report provides the conclusion, recommendation and the

appendix which shows the percentages of the candidates who scored 30
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marks and above in each question and the figure which shows percentage of
performance in each topic. It is expected that the report will be useful to
Education stakeholders and it will enable teachers and the candidates to
improve the teaching and learning process respectively in Geography subject



2.0 ANALYSIS OF THE CANDIDATES' PERFORMANCE FOR EACH
QUESTION

2.1 Section A: Physical and Mathematical Geography
2.1.1 Question 1: Multiple Choice Items

The question comprised of ten (10) multiple choice items taken from various
topics in the syllabus. The candidates were required to choose the correct
answer among the five (5) given alternatives.

This question was attempted by 359,450 (100%) candidates, out of which
76,174 (21.2 %) scored 0 to 2 marks of which 6,371 (1.8%) scored 0 mark,
224,857 (62.5%) scored from 3 to 6 marks and 58,419 (16.3%) scored from 7
to 10 marks. The performance of the question was good since 283,276
(78.8%) of the candidates scored from 3 to 10 marks. Figure 1 is a summary
of the candidates’ performance in question 1.
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10 +
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Figure 1: Percentage of the Candidates’ Performance in Question 1.

The majority (78.8%) of the candidates performed well in this question as
indicated in figure 1. The main reasons for such good performance were
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attributed by the sufficient knowledge on the subject matter and
understanding the demand of the questions. The following are the strengths
and weaknesses which were observed in the candidates’ scripts.

Item (i) required the candidates to identify an instrument used to measure
maximum and minimum temperature. The candidates who chose the correct
answer D Six's Thermometer had good knowledge on the topic of “weather”
specifically on the sub topic of weather station. The candidates who opted for
distractor B Thermometer, might have knowledge of the Thermometer as an
instrument used to measure temperature hence they associated the word
temperature which appeared on the stem of the question with distractor "B",
but they failed to understand that normal Thermometer cannot measure
maximum and minimum temperature at the same time. However candidates
who opted for distractor A Barometer, C Anemometer and E Hydrometer,
were not aware of the instruments used to measure maximum and minimum
temperature since Barometer is used to measure pressure, Anemometer is
used to measure wind speed and Hydrometer is used to measure the specific
gravity of a liquid by means of the principle of floatation.

Item (ii) tested the candidates’ knowledge on vulcanicity especially on
identification of extrusive volcanic feature from the given alternatives. The
candidates who chose the correct answer A Crater, were conversant with the
concept of vulcanicity mainly on the extrusive volcanic features. Candidates
who opted for distractors B Laccolith, C Batholith, D Sills and E Dykes,
failed to differentiate between extrusive volcanic features and intrusive
volcanic features as all selected distractors are the intrusive volcanic features.

In item (iii) the candidates were required to identify the factors for soil
formation from the alternatives given. The candidates who chose the correct
answer C Time, revealed good knowledge on the topic of “soil” particularly
on the factors for soil formation. Candidates who opted for distractor A
Organic matters, B Mineral matters, D Water and E Air, misconceived
between factors for soil formation and components of soil since all selected
distractors are the components of soil and not factors for soil formation.

Item (iv) required the candidates to identify the layer of the atmosphere
which is nearer to the earth's surface. The correct answer was A Troposphere,
which was chosen by the candidates who had knowledge on the topic of
“structure of the earth” especially on the concept of layers of the atmosphere.
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Candidates who opted for distractor B Stratosphere, D Mesosphere and E
Thermosphere, had general knowledge on the “layers of the atmosphere” but
were not able to identify the specific layer which is nearer to the earth's
surface while those who opted for distractor C Hydrosphere, failed to
recognize that: Hydrosphere is the outer layer of the earth which consists of
water masses (oceans and seas).

Item (v) demanded the candidates to identify the heavenly body that
possesses and transmits its own light from the given alternatives. The
candidates, who chose the correct answer B Sun, showed that they were
knowledgeable with the concept of “solar system” mainly on the
characteristics of the sun. The candidates who opted for other distractors, A
Moon, C Earth, D Asteroid and E Planet, failed to understand that all of these
distractors are heavenly bodies in the solar system that revolves around the
sun and shine by reflected light from the sun, hence they do not possess their
own light.

In item (vi) the candidates were required to identify the region which consists
of thick forests, tree dwellers and people who engage in cultivation of rubber,
cocoa, bananas and oil palms. The correct answer was E Equatorial which
was chosen by candidates who had sufficient knowledge on the “world
climatic regions and their characteristics”. The candidates who opted for
other distractors A Tropical Savanna, B Tropical Monsoon, C Polar Climate
and D Mediterranean, had general knowledge on the world climatic regions
but they were not able to identify exactly climatic region which possesses the
above characteristics since Tropical savanna is characterised by shrubs,
scattered trees with tall grasses and people are engaged in the cultivation of
sugarcane, maize, sisal and tobacco. Tropical Monsoon has iron wood,
mangrove trees, sandal wood and people cultivate rice, maize, millet,
sorghum, and cotton. Mediterranean region is characterised by coniferous
trees, such as oak, eucalyptus, jarrah and karri and people are engaged in
cultivation of cereal crops such as wheat, barley, rice, maize, and fruits such
as orange, lemon, apricots and gripes while Polar climate has scant
vegetation and the main economic activities are hunting and fishing.

Item (vii) required the candidates to identify the name of an instrument used
to determine Magnetic North among the given alternatives. The candidates,
who chose the correct answer B Compass, indicated that they were familiar
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with the “instrument used for locating direction”. The candidates who opted
for distractor A Stevenson Screen, revealed that they lacked knowledge on
the instrument used for locating direction because Stevenson Screen is the
wooden box in which some of the instruments of measuring weather are kept
in. The candidates who opted for distractors C Thermometer, D Hygrometer
and E Barometer failed to differentiate between instruments used to
determine Magnetic North and elements of weather since all selected
distractors are the instruments used to measure elements of weather and not
Magnetic North.

Item (viii) required the candidates to identify the process which is not
responsible for chemical weathering. The candidates, who opted for the
correct alternative B Saltation, indicated that they had sufficient knowledge
on the process of river transportation which involves bouncing of small
materials like pebbles, sand and gravel on its river bed. Candidates who opted
for other distractors A Carbonation, C Hydrolysis, D Hydration and E
Oxidation, failed to understand that all these are the processes of chemical
weathering.

Item (ix) tested the knowledge of the candidates on “erosion by wave”. The
question required the candidates to identify features produced by wave
erosion. The candidates who chose the correct answer A Geo, Wave cut
platform and Stack, showed that they were familiar with “features produced
by wave erosion”. Candidates who opted for distractor B Blow hole, Sea arch
and Levee, failed to recognize that Levee is not one of the wave erosion
feature rather it is a river depositional feature. The candidates who selected C
Sea arch, Beach and Stump realized that Sea arch and Stump are wave
erosional features but they failed to recognize that Beach is produced by
wave deposition.

On the other hand, the candidates who opted for distractor D Beach, Spit and
Bars were not able to identify that all are features resulted from wave
deposition and not wave erosion features while candidates who opted for
distractor E Tombolo, Meander and Cliff failed to understand that Tombolo is
the wave deposition feature, Meander is the feature which is resulted from
lateral erosion in the river valley and CIiff is the wave erosion feature.

Item (x) tested skills of the candidates in measuring the distance on the map
and converting it to the actual ground by using scale. The candidates were
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required to determine the actual ground distance of a river with 18 cm on a
map if the scale of the map is 1:50000. Candidates who chose the correct
answer A 9km, indicated that they had good skills on “calculating the
distance of the river from the given map distance and converting to the actual
ground distance by using the scale given”. Candidates who opted for other
distractors B 2km, C 4km, D 18km and E 1km, lacked skills on how to apply
correct formula on converting map distance into actual ground distance by
using scale.

2.1.2 Question 2: Structure of the Earth

This question consisted of 5 matching items composed from the topic of
Structure of the earth. The question required the candidates to match the
process involved in the formation of rocks in LIST A with the type of rock in
LIST B by writing the letter of the correct response beside the item number.
This question tasted the candidates understanding on different processes
involved in the formation of rocks.

This question was attempted by 359,448 (100%) candidates where by 164,
313 (45.7%) scored from 0 to 1 mark of which 19.2 percent scored 0 mark,
1416,134 (39.4%) scored from 2 to 3 marks and 53,521 (14.9%) candidates
scored from 4 to 5 marks. Generally the candidates performance in this
question was average since 54.3 percent of all the candidates were able to
score from 2 to 5 allotted marks. Figure 2 illustrates the candidates’
performance in question 2.

Scores
m0 -1
o2 -3
m4 -5

Figure 2: Percentage of the Candidates’ Performance in Question 2.
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The candidates who performed well (54.3%) in this question had adequate
knowledge on the topic of Structure of the earth surface. They were able to
match most of the processes involves in rocks formation with rock types
correctly.

Item (i) required the candidates to identify the type of rocks formed when
magma solidifies deep in the crust and can be exposed on the surface by
agents of erosion. Candidates, who matched the correct option D Intrusive
volcanic rocks, had adequate knowledge on the concept of “vulcanicity”
especially on “the volcanic intrusive rocks”. However the candidates who
opted for B Igneous rocks, A Crystalline rocks and E Extrusive volcanic
rocks probably were aware with the types of rocks formed by solidification of
molten materials, but they failed to differentiate between rocks which are
formed on the earth's surface or near the earth's surface and rocks which are
formed deep in the earth's surface since Igneous rocks are the types of rocks
formed when molten magma cools and solidifies either inside the rocks of the
earth or when lava cools and solidifies on the surface of the earth. Crystalline
rocks are the igneous type of rocks composed of crystals, while Extrusive
volcanic rocks are the types of rocks formed when magma cools and
solidifies on the earth's surface. Furthermore, other distractors C Organic
sedimentary rocks, F Metamorphic rocks and G Sedimentary rocks which
were chosen by the candidates had no direct relationship with the answer D
Intrusive rocks.

Item (ii) required the candidates to identify the type of rocks formed when
molten magma cools and solidifies inside the rocks of the earth (intrusive) or
on the surface of the earth (extrusive). The Candidates who managed to
identify the correct answer B Igneous rocks revealed good knowledge on the
“processes involves in the formation of igneous rock and its characteristics”.
However, candidates who opted for A Crystalline rocks failed to understand
these are types of igneous rocks but they are formed on the earth surface.
Candidates who opted for D Intrusive volcanic rocks and E Extrusive
volcanic rocks failed to understand that intrusive volcanic rocks involve
solidification of magma inside the earth while extrusive volcanic rocks occur
when lava solidifies on the earth surface. However, the candidates who chose
other options C Organic sedimentary rocks, F Metamorphic rocks and G
Sedimentary rocks which had no direct relationship with the stem since they
are rocks formed by non-volcanic activities.
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In item (iii) the candidates were required to identify rocks which are formed
as a result of deposition and compaction of remains of dead plants and
animals. Candidates who chose the correct answer C Organic sedimentary
rocks had knowledge on “specific type of organically formed sedimentary
rock according to their classification and mode of formation (origin) or
composition”. Candidates who opted for G Sedimentary rocks had a general
knowledge on sedimentary rocks (formed by the deposition of eroded
materials carried by moving rivers, wind or ice) the candidates might have
been attracted by the word deposition since Sedimentary rocks are the types
of rocks formed by the deposition of eroded materials carried by moving
rivers, wind or ice. Candidates who opted for A Crystalline rocks, B Igneous
rocks, D Intrusive volcanic rocks, E Extrusive volcanic rocks and F
Metamorphic rocks failed to understand that these distractors had no direct
relationship with the stem since they are types of rocks formed by volcanic
activities.

Item (iv) required the candidates to identify the rock formed when different
types of rocks are subjected to great heat and pressure. Candidates who chose
the correct answer F Metamorphic rocks showed that they were familiar with
“the formation of metamorphic rocks”. Candidates who opted for option A
Crystalline rocks, B Igneous rocks, D Intrusive volcanic rocks, E Extrusive
volcanic rocks failed to understand that these types of rocks are formed
through the process of cooling and solidification of molten material but they
differ in their location of their occurrence. However, the candidates who
chose other options, B Organic sedimentary rocks, D and G Sedimentary
rocks failed to understand that these distractors had no direct relationship
with the stem hence are rocks formed by deposited sediments.

Item (v) required the candidates to identify the type of rocks which are
formed when sediments are deposited either by water, wind or ice.
Candidates who were able to choose the correct answer G Sedimentary rocks
had knowledge on formation of sedimentary rocks in general. The Candidates
who matched it with C Organic Sedimentary rocks possibly confused it with
the general meaning of sedimentary rocks as Organic Sedimentary rocks are
formed from the remains of plants and animal. On the other hand, candidates
who opted for A Crystalline rocks, B Igneous rocks, D Intrusive volcanic
rocks, E "Extrusive volcanic rocks and F Metamorphic rocks had limited
knowledge on how Sedimentary rocks are formed.
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2.1.3 Question 3: Forces That Affect the Earth Crust

The question had two parts (a) and (b). Part (a) required the candidates to
describe (i) Distributaries, (ii) Lagoon and (iii) Levee. Part (b) required the
candidates to outline three conditions necessary for the formation of Delta.

This question was attempted by 359,446 (100%) of all the candidates of
which 340,831 (94.8%) scored from 0 to 2.5 marks of which 306,026
(85.1%), scored O mark, 17,441 (4.9%) scored from 3 to 6.5 marks, 1,174
(0.3%) scored from 7 to 10 marks of which only 29 candidates were able to
score full marks (10) in this question. The analysis shows that, out of 94.4
percent of the candidates who scored low mark 306,026 (85.1%) scored O
mark. The question was poorly performed by the majority of the candidates
as illustrated in Table 1.

Table 1: Percentage of the Candidates’ Performance in Question 3

The analysis of the candidates’ performance indicated in table 3 shows that
the majority of the candidates performed poorly in this question. The main
reasons for the candidates’ poor performance in this question were: lack of
knowledge on the subject matter, failure to observe instructions like
drawing the features instead of describing them, copping the questions
only, writing question number only, giving insufficient number of correct
points on conditions necessary for delta formation as required and
misinterpretation of the question demands.

The majority of the candidates who scored a 0 mark (85.1%) failed to give
correct answer to all parts of the question. This indicates that, they lacked
knowledge on river action specifically on the features produced by river
deposition. These candidates provided incorrect responses in both parts.

In part (a), majority of the candidates provided incorrect responses as some

of the candidates misconceived the concepts tested with features resulted

from wave erosion, wind deposition and river erosion while others provided

irrelevant responses which showed lack of knowledge on the subject matter
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with poor English language. Furthermore some of the candidates drew
diagrams of the features instead of giving description of the concepts. For
example, one of the candidates responses was such as: (a) Distributaries is
a river action (b) Lagoon is the place where people live and (d) Levee is the
instrument used in Geographical measurements. Another candidate
explained (a) Distributaries as, the hill shaking which is associated to
Earthquakes, (b) Lagoon is the science of measuring distance and angles
and (c) Levee is the scientific study of body which control leveling machine.
Furthermore, another candidate defined (a) Distributaries as the large
channel of the river valley, (b) Lagoon is the ridge in the ocean floor and
(c) Levee is the seasonal water fluctuation in the river channel. In addition
to that, another candidate interchanged the meaning of Lagoon with Levee,
Levee with distributaries hence failed to score any mark in this part.

In part (b) some of the responses provided by the candidates were irrelevant
as some of them provided responses which were contrary to the demand of
the question while others showed lack of knowledge on the conditions
necessary for the formation of a delta. For example, one candidate wrote
conditions for the formation of coral reef instead of conditions for delta
formation such as: - clear and salt water, presence of planktons, Presence
of shallow water and much supply of sunlight. Another candidate wrote
processes of river erosion such as:- solution, hydraulic action and abrasion
instead of conditions necessary for the formation of Delta. Some of the
candidates provided irrelevant answers which showed lack of knowledge
on the subject matter. For example, the candidates’ responses were such as:
necessary network, reality, materials and quality, formation of soil erosion,
formation of tributaries patterns and formation of river drainage patterns,
formation of distributaries, accumulation of alluvial and formation of
Lagoon, steep soil, water movement and gravitational force. These
candidates scored 0 mark in this part. Extract 3.1 is a sample of such poor
responses.
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Extract 3.1

3 oy ) Dicthribytaner
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1 Legoon
~3
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Extract 3.1: A sample of response from the script of the candidate who
misconceived the demand of the question. In part (a) he/she mentioned :(i)
processes of wave erosion instead of descriptions of distributaries (ii) river
erosion instead of descriptions of Lagoon and (iii) wave deposition instead of
descriptions of levees. In part (b) he/she mentioned internal forces that affect
the earth crust instead of conditions necessary for Delta formation.

The candidates with average performance (5,2%) had inadequate
knowledge on the subject matter since they failed to fulfill the demand of
the questions. Some of the candidates mixed up the correct and incorrect
responses while others gave partial descriptions of the concepts tested. For
example, some of the candidates failed to describe the term Distributaries,
Lagoon and Levee. For example, In part (a) one candidate described (i)
Distributaries as distribution of water, (ii) Lagoon is formed from the delta
formation and (iii) Levee is the feature formed in the ocean. On the other
hand some of the candidates were able to describe only one correct concept
while others provided partial description on both terms.

In part (b) some of the candidates managed to outline conditions necessary
for delta formation while others pointed out only few conditions for the
formation of delta. Furthermore, some of the candidates outlined partially
the conditions necessary for the formation of delta while others listed the
points without explanations.
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Very few candidates (0.3%) who scored higher marks (7 to 10) showed
adequate knowledge of river depositional features which occur at the lower
course of the river development. The analysis shows that, some of the
candidates were able to provide correct responses in both parts while others
managed to respond correctly in few parts. The differences in correctness
of their responses rendered their marks to vary from 7 to 10. Extract 3.2 is a
sample of a correct response.

Extract 3.2
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Extract 3.2: A sample of a response from the script of the candidate who
provided correct answers in part (a) and (b).

2.2 Section B: Application of Statistics, Introduction to Research and
Elementary Surveying.

2.2.1 Question 4: Application of Statistics

This question had four parts, (a), (b), (c) and (d). The candidates were
required to;- (a) describe the type of statistical graph used, (b) analyse the
five procedures involved in constructing such a statistical graph, (c) give two
points and comment on the differences in coffee production shown in the
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graph and (d) give three advantages of presenting data by using the type of
graph described in 4 (a).

The analysis of the candidates performance showed that the question was
attempted by 359,450 (100%) out of which, 92,301 (25.7%) scored from 6 to
9 marks, 132,225 (36.8%) scored from 3 to 5.5 marks, and 134,924 (37.5%)
scored from 0 to 2.5 marks of which 17.6 percent scored 0 mark. Figure 3
illustrates the percentage of the candidates’ performance in this question.

mo-2.5
03-5.5
m6-9

Figure 3: Percentage of the Candidates’ Performance in Question 4.

Figure 3 shows that the question was averagely performed by the candidates
as 65 percent of all the candidates were able to score 3 marks and above out
of 10 allotted marks.

The candidates who performed well in this question scored from 7 to 9
marks. These candidates had adequate knowledge on the concept of statistics
and skills in presenting and interpreting simple data. In part (a) they
managed to describe the type of statistical graph used as Bar graph which is
usually employed to express or present data by a series, the height of each
bar indicates the amount it represents. In part (b) they were able to analyse
the five procedures involved in constructing the statistical graph such as; -
Getting the data needed for constructing the bar graph, determining the
vertical and horizontal scale of the graph, drawing the axes and insert the
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bars as per the stated vertical and horizontal scale, shading the bars and
inserting scale and the title of the graph.

In part (c), the candidates showed knowledge in interpretation of information
from the presented graphs as they were able to comment with reasons on the
differences in coffee production shown in the graph. as;- There was high
production of coffee in the year 2012 where production was 70 tonnes, this
may be due to good weather condition, good government support as well as
increase in demand of coffee crop. Also there was low production of coffee in
the year 2013 as only 20 tonnes of coffee was produced. This might be due to
existence of pests and diseases, poor weather condition, availability of more
coffee produced in the year 2012 as well as decrease in demand of coffee
crop.

In part (d) the candidates managed to give advantages of presenting data by
using the type simple bar graph such as; - They are relatively simple to draw
as they only represent one item, they are simple to read and interpret, the
graphs are good for comparison purpose and if the bars are well drawn they
give good visual impression. Extract 4.1 shows a sample of a good response
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Extract 4.1: A response by the candidate who performed well in all parts
of the question.
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The candidates who scored from 3 to 5 marks provided incomplete responses
to some parts of the question. This demonstrated that the candidates had very
limited knowledge on the concept of statistics and skills on the statistical
graph presentation and interpretation. Furthermore, the candidates understood
the demand of the question but, they failed to provide all the correct
responses. In addition, there were some candidates who were able to give less
number of correct points in both parts while others in this category avoided
the other parts.

Besides the average performance of the candidates in this question, 37.5
percent performed poorly as their scores ranged from 0.5 to 2.5 marks. Most
of them answered all parts partially. In part (a) some candidates were able to
mention the type of statistical graph correctly while others provided incorrect
type of statistical graph. For example, one candidate wrote: Compound bar
graph while the other candidates wrote Divergent bar graph instead of simple
bar graph. In part (b) some candidates mixed correct and incorrect
procedures involved in constructing the statistical graph while others
analysed irrelevant procedures involved in constructing the statistical graph.
For example, one candidate wrote “draw two adjoining lines that is
horizontal and vertical line, small space so you draw the first graph after
escaping a space, all bars should leave a space after been drawn in order to
make a space between bars and all bars should have the same side”. In part
(c) some of the candidates were able to comment two differences in coffee
production shown in the graph while others commented partially the
differences in coffee production. For example, one candidate commented
that, the coffee production decreases and increases that is has no stability. In
part (d) some candidates were able to give only two advantages of presenting
data by using the Simple bar graph while others misconceived the demand of
the question and wrote on disadvantages of it.

The candidates who scored a 0 mark failed to provide correct responses in all
parts of the question. Most of the candidates failed to use bar graph provided
to answer the given questions. This indicates poor knowledge on the concept
of statistics and skills on the statistical graph Interpretations. The items which
were mostly misconceived by the candidates were (a), (b) and (c) as the
candidates failed to use the graph provided to answer the questions asked
instead, they provided responses which were contrary to the questions
demand. For example in (b), one candidate listed tools used in drawing
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statistical graphs such as;- pencil, pen, ruler and sheet instead of analyzing
procedures involved in constructing statistical graphs while in (c) he/she
explained types of coffee such as Arabica, Robusta and Liberica instead of
commenting in differences in coffee production. Furthermore, the analysis
shows that most of the candidates attempted only part (a) of the question and
left the others. The candidates who attempted part (d) some failed to give
advantages of bar graph while others provided the disadvantages of bar
graphs. For example one candidate mentioned disadvantages of bar graph
such as: it is time consuming, it involves mathematical calculations. Extract
4.2 illustrates a sample of the poor responses in this question.
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Extract 4.2: A sample of response from the candidate who provided incorrect
responses in all parts of the question.

2.2.2 Question 5: Introduction to Research

The question had two parts (a) and (b). Part (a) required the candidates to
give three differences between interview and observation. Part (b) demanded
the candidates to outline four merits of the library research. The question
tested the candidates knowledge in research tools.

This question was attempted by 359,449 (100%) of all the candidates of
which 238,957 (66.5%) scored from 0 to 2.5 mark of which 128,321 (35.7%)
scored 0 mark, 91,586 (25.5%) scored from 3 to 5.5 marks and 28,906 (8%)
scored from 6 to 9 marks. Figure 4 summarises the candidates’ performance
in question 5.
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Figure 4: Percentage of the Candidates’ Performance in Question 5.

Figure 4 shows that the question was averagely performed by the candidates
as 36.9 percent of all the candidates were able to score 3 marks and above out
of the 9 allotted marks in this question.

Majority of the candidates (66.5%) who performed poorly in this question
scored from 0 to 2.5 marks. The candidates had limited knowledge on the
research tools because most of them were unable to answer correctly to the
most parts of the question as required. For example, in part (a), some of the
candidates mixed up the correct and incorrect answers while others provided
differences of questionnaire and interview instead of interview and
observation while others provided correct and incorrect responses in the
given parts. Further analysis shows that, some candidates managed to provide
only one difference between interview and observation. For example, one
candidate differentiated interview and observation as: Interview involves face
to face discussion between two people while observation uses sense of organs
while others wrote: Interview is a method of collecting data through asking
questions respondent while observation is the method of collecting data by
using the sense of organs. Interview is divided into verbal section and
nonverbal section while observation is divided into representative. All the
candidates’ responses revealed incompetence on the subject matter.

In part (b) some of the candidates outlined partially few correct merits of
library research while others provided wrong merits of the library research.
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For example, one candidate wrote, “it is faster, it is easy to understand and it
is used in small area, it involves direct research, it does not need procedures
and it does not need more knowledge ”. For example, one candidate wrote, it
IS not cost or expensive.

The candidates who scored 0 mark failed completely to respond in all parts of
this question correctly. This implies that they were not knowledgeable on the
topic of research specifically on the concepts of the research tools and some
failed to understand the demand of the question. In part (a) they provided
differences between interview and observation in the wrong way as they
confused between job interview and interview as a research tool. For
example, one candidate explained the differences between interview and
observation as, Interview is a process of people to going in some areas or
some sector to interview like teachers, industries and other sector, interview
is a process of people to move from one place to other to interview about a to
get a job in any sector like teacher, industries, secretary, doctors.

In part (b), some of the candidates provided irrelevant responses, others
provided criteria to be considered when conducting research while others
misunderstood the question by providing importance of library in the school
instead of library research. For example, one candidate wrote; - It is used to
geographical studies, to used of prevention book and past paper for the
examination, to development of national language like Kiswahili and to the
provide good performance of the student. This portrays misconception of the
question demands. Extract 5.1 illustrate a sample of poor response from one
of the candidates who scored low mark.

21



Extract 5.1
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Extract 5.1: A part of the candidate's responses who provided the importance of
Library in the school instead of merits of Library research.

The candidates who performed averagely (3 to 5.5 marks) had an average
understanding on the concept of research tools. In part (a) some of the
candidates provided correct differences between interview and observation
other candidates were able to give two correct differences between interview
and observation. For example one candidate wrote; Interview involves face to
face dialogue while observation uses organs like eye, with interview it is easy
to get more details while with observation is not easy.

In part (b) some of the candidates outlined wrong merits of library research
while others outline correct merits of library research. Some of the responses
provided by the candidates were such as: it involves direct research, it does not
need procedures and it does not need more knowledge. It is easy to make
analysis, it helps to know the history of other researchers that is what is
researched and what is not, it helps to identify problems of research and it
helps to get data which interview and observation cannot get so it saves time.
In additional to that, other candidates named the research tools such as:
interview, questionnaire and observation instead of merits of library research.
This indicates misconception of the question demand.

The candidates, who scored high marks (6 to 9), were able to answer most parts
correctly. The candidates provided three differences between interview and
observation correctly, and outlined merits of library research in part (b) as
required, though some of their points were not well outlined. Furthermore,
some candidates managed to outline the merits of library research with detailed
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information in part (b). Only few candidates (0.6%) were able to answer the
question correctly in both parts. Extract 5.2 is a sample of good responses.

Extract 5.2
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Extract 5.2: A sample of the candidates’ correct responses. The candidate was

able to differentiate between interview and observation and outlined the merits
of library research.
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2.2.3 Question 6: Elementary Surveying and Map Making

This question tested the candidates’ knowledge on the significance of survey
in social and economic activities. The question demanded the candidates to
explain five importances of survey in daily life.

This question was attempted by 359,449 (100%) of all the candidates of
which 253,149 (70.4%) scored a 0 to 2.5 marks, out of which 131,825 (36.7
%.) scored O mark, 94,985 (26.5%) scored from 3 to 5.5 marks and 11,315
(3.1%) scored from 6 to 9 marks. The performance in this question was poor
as only 29.6 percent scored above 3 marks out of 9 marks. Figure 5
summarises the candidates’ performances in this question.

=)}
' 3.1
o
RS
s 7 26.5
RO
1
o 70.4
o
0 20 40 60 80
Percentage of Candidates

Figure 5: Percentage of the Candidates’ Performance in Question 6.

The candidates who scored from 0 to 2.5 marks revealed inadequate
knowledge of survey particularly on the importance of survey in social and
economic activities and where by some failed to understand the demand of
the question while others mentioned two importances of survey. For
instance, it is used in making plans, it is used mainly to plan the best use of
land for construction activities e.g., buildings, roads, railways and
communication systems. Furthermore, some of the candidates mixed up
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relevant and irrelevant importance of survey in daily life such as, it helps for
military technique, it helps in map making, it can develop new style of life,
help for geographical and helps for economic, social and political activities.

Moreover, the candidates who scored a 0 mark failed to understand the
demand of the question, instead of explaining the importances of survey in
daily life, they provided incorrect answers. This showed that they lacked
basic knowledge of survey specifically on the importance of survey in social
and economic activities. For example, some of the candidate did not provide
the introduction of survey and explained irrelevant importances of survey
while others provided wrong explanations which were characterized by poor
English language. This indicates lack of knowledge on the subject matter.
Extract 6.1 is a sample of such a poor response.
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Extract 6.1: A sample of the candidate's responses who explained
importances of research instead of importances of survey.
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The candidates (26.5%) who scored from 3 to 5.5 marks were able to
understand the demand of the question, but they had some weaknesses in
their responses. Some of the candidates were able to provide relevant
introduction of survey and explained few relevant importance of survey in
daily life. Moreover, majority of the candidates in this category provided
relevant and irrelevant importance with partial explanations such as: it
helps sketch of boundaries, it helps to determine angles, it helps to
determine relative position and direction of an area. It helps in map
interpretations, it helps in map preparation, and in making boundaries it is
used to plan buildings, , it is used in positioning and in making margins, it
helps to determine various distance and angles of the earth's surface, it
helps us to suggest suitable areas for the establishment of settlements and it
helps us to know the height of various places.

The candidates who scored high marks (6 to 9) demonstrated that they had
knowledge on survey particularly on the importance of survey in social and
economic activities, as they were able to provide correct introduction of
Survey as, the science of making linear or angular measurements of
natural and manmade features on the earth's surface. Also they were able
to explain five importance of survey in daily life as;- It is used in making
plans, it helps in the finding of relatives, position and size of features on the
land surface, usefully in setting boundaries and enable the adding of details
to existing plans on large scale maps. The candidates' scores in this group
differed with variation of clarity of the points given. Extract 6.2 illustrates
responses from one of the candidate's script who performed well in this
question.
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Extract 6.2: A sample of one of the candidates’ response who was able to
answer this question well.
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2.3 Section C: Map Reading and Photograph Interpretation

2.3.1 Question 7: Map Reading and Interpretation

This question required the candidates to study carefully the map extract of
llonga (Sheet 265/2) provided and answer the questions given. The question
had five parts. (a), (b), (c), (d), and (e). In part (a) The candidates were
required to determine the area of North Western Luhombero river from grid
reference 570963 to 644034, (b) with evidence from the map, to name six
symbols which have been used to interpret the given map, (c) to give the
direction of Iputi to llonga, (d) describe the settlement pattern of the mapped
area and (e) giving evidences mention five possible economic activities
which might take place in the mapped area. This question intended to test
skills of the candidates on reading and interpreting topographical maps.

MAP EXTRACT OF ILONGA (SHEET 265/2)

‘‘‘‘‘‘
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This question was attempted by 359,450 (100%) of all the candidates of
which 312,264 (86.9%) scored from 0 to 5.5 marks of which 38,717
(10.8%) scored 0 mark, 46,938 (13%) scored from 6 to 11.5 marks and 248
(0.1) scored from 12 to 18 marks. The performance of the candidates in this
question was poor as 13.1 percent of the candidates scored above 5 marks
out of 18 marks. Table 2 illustrates the percentage of the candidates’
performance in this question 7.

SN [Total no of candidates  |Range of scores |Percentage of scores (%)

T2 | e | 515 | 130 |

Table 2: Percentage of the Candidates’ Performance in Question 7.

Majority of the candidates (86.9%) who performed poorly in this question
scored from 0 to 5.5 marks as they were unable to answer correctly most
parts of the question. The main reason for poor performance of the
candidates was poor skills in reading and interpreting topographical maps
and failure to follow the instructions. However, the candidates who scored
0 mark lacked knowledge and skills on the concept of reading and
interpretation of topographical maps hence failed to respond correctly in all
parts of the question.

The candidates who scored from 0.5 to 05 marks provided relevant and
irrelevant answers in this question. The candidates’ scores in this category
reflect that they had limited knowledge and skills on the concept of reading
and interpretation of topographical maps.

Majority of the candidates in part (a) failed to determine the area North
Western of Luhombero River from grid reference 570963 to 644034 by
using square method. The main problem was to identify complete squares
and incomplete squares which could help them to get the required area. The
reason which hindered candidates to recognise complete and incomplete
squares might be the identification of specific area to be calculated. For
example one candidate identified complete squares 27 and incomplete
squares 28/2 and she/he ended up with incorrect answer 41km?2. Another
candidate identified correct complete squares 23 and incorrect incomplete
squares 24/2 as a result he /she got incorrect answer 36 km? However,
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another candidate got incorrect complete squares 29 and correct incomplete
squares 26/2 which led him/her to get incorrect answer 42 km?.

In part (b) some of the candidates mixed up correct and incorrect symbols
which have been used to interpret the given map by using evidence from
the map. For example, one candidate provided answers such as;- woodlands
in the whole map, scrubs are found at the centre, seasonal swamps at the
North part, bamboo at the Eastern part, scattered trees at the Southern part
and river and tree at the Eastern part. Some candidates managed to name
six symbols which have been used to interpret the given map without
evidence from the map. For example, one candidate wrote; seasonal
swamps, ponds, woodlands, scrubs, dry weather, main track and river.
Others were able to identify only three correct symbols which have been
used to interpret the given map with evidence from the map. For example
one candidate provided correct responses as woodlands which covered the
whole map, seasonal swamps at the Northern part of the map and Scrubs
are found at the central part of the map.

In part (c) some of the candidates managed to give correct direction of Iputi
to llonga while others provided incorrect direction of lIputi to llonga. For
example one candidate gave correct direction of Iputi to llonga as South
Western part while others provided incorrect direction as the South South
West.

In part (d) some of the candidates were able to describe the settlement
pattern of the mapped area correctly while others gave incorrect settlement
pattern of the mapped area. For example, one candidate named;- Linear
settlement, nucleated settlement and scattered settlement while others
mixed up correct response and incorrect response as he/she mentioned;-
Nuclear settlement, dispersed settlement and urban settlement.

In part () some of the candidates managed to mention two correct
economic activities which might take place in the mapped area with
evidence from the map. For example, one candidate wrote cultivation due
to the presence of scattered cultivation and tourism due to the presence of
Nigumu hills. Some candidates provided correct and incorrect economic
activities which might take place in the mapped area with evidence from
the map. For example, one candidate mentioned trade due to the presence
of roads and railways, fishing due to the presence of Luhombero river,
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mining due to the presence of industries, transport and communication due
to the presence of roads and railways and agriculture due to the presence
of scattered cultivation while others were able to give five economic
activities which might take place in the mapped area without evidence from
the map. For example, one candidate outlined: fishing, tourism, animal
keeping, trade and farming. Extract 7.1 is a sample of poor responses from
candidate’s script.
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Extract 7.1: A sample of responses from the candidate who performed

poorly in parts (a) of the question while in part (b) he/she provided signs
used to interpret features on the map instead of symbols used to interpret

the given map.

The analysis shows that 13 percent of the candidates with average scores
from 6 to 11 marks were able to answer some parts of the question
correctly. This reveals that they had insufficient knowledge and skills on
the reading and interpretation of topographical maps and were able to
observe the question demands.
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In part (a) some of the candidates managed to identify correct complete
squares but they failed to identify incomplete squares in the calculation of
area North Western of Luhombero river from grid reference 570963 to
644034 (irregular shape) while others identified correct complete and
incomplete squares but they failed to follow correct procedures to get the
correct answer. For example, one candidate identified complete squares 23,
incorrect incomplete squares 20/2 which led him/her to get incorrect
answer 33 km?. Another candidate identified complete squares 23 and
incomplete squares 26/2 but he/she failed to follow procedures to get the
correct answer. In addition to that, some candidates failed to identify
exactly complete squares but they were able to identify correctly
incomplete squares, as a result they came up with incorrect answer. For
example one candidate got complete squares 36 and incomplete squares
26/2, as a result he/she came up with incorrect answer 49 km?.

Part (b) tested the candidates’ ability to generate information from the map
given, some of the candidates managed to use evidence from the map to
name symbols which have been used to interpret the given map. For
example, one candidates mentioned scrubs which are found at the central
part, woodlands which are found all over the map, ponds which are found
at the central part and seasonal swamps at the Northern part. Some
candidates mixed up correct and incorrect symbols which have been used to
interpret the given map. For example, one candidate provided, scrubs which
are found at the centre of the map, woodlands which are found all over the
map, seasonal swamps at the Northern part of the map, palm trees covered
the whole map and bamboo at the Southern part of the map.

In part (c) some of the candidates were able to give correct direction of
Iputi to llonga while others were not able. For example, one candidate
provided correctly direction of Iputi to llonga as South Western part of the
mapped area. Another candidate named incorrect direction of Iputi to
llonga as North North West part of the map. Additionally, another
candidate stated incorrect direction of Iputi to llonga as North East North.

In part (d) some of the candidates described the settlement pattern of the
mapped area correctly as nucleated settlement while others failed to give
correct settlement pattern of the mapped area. For example, one candidate
mentioned urban settlement.
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In part (e) some of the candidates mixed up relevant and irrelevant points
while others were able to mention correctly possible economic activities
which might take place in the mapped area with evidence from the map.
For example, one candidate provided trade due to the presence of roads
and railway, pastoralism due to the presence of woodland and scrubs,
tourism due to the presence of Nyamusuri camp, fishing due to the presence
of Luhombero and Chigandugandu rivers and agriculture due to the
presence of scattered cultivation.

Few candidates (0.1%) who scored high marks 12 to 18 marks had
sufficient knowledge and skills of reading and interpretation of
topographical maps. Majority of them were able to respond correctly to
most of the parts, but they failed to score marks in parts (a) and (b). Some
of the candidates were able to follow procedures of area calculations but
they failed to count correctly full squares as they failed to demarcate the
area according to the given grid references. Generally, the variation of the
candidates scores in this category depended on the degree of relevancy and
clarity of their responses. Extract 7.2 is a sample of such good responses.
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Extract 7.2: A correct response from a candidate's script who attempted
the question correctly in part (a), (b), (c), (d) and (e).
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2.3.2 Question 8: Photograph Interpretation

The question had four parts (a), (b), (c) and (d). The candidates were required
to study the photograph provided and to answer the questions that followed:
(@) Give two reasons and name the type of photograph, (b) suggest the type
of settlement pattern and give one factor that has influenced it, (c) suggest
two economic activities that might be taking place in the area and (d) provide
three advantages of photographs over maps. The question tested basic
knowledge of photographs and skills of interpreting information presented.

PHOTOGRAPH

The question was attempted by 359,440 (100%) candidates of which 169,492
(47.2%) scored from 0 to 2.5 marks of which 36,837(10.2%) scored 0 mark,
167,083 (46.4%) scored from 3 to 6 mark and 22,865 (6.4%) scored from 6.5
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to 10 marks. The performance in this question was average as 52.8 percent of
all the candidates scored above 3 marks out of 10 allotted marks in this
question. The overall candidates’ performance in the question is summarized
in Figure 6.
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Figure 6: Percentage of the Candidates’ Performance in Question 1.

The analysis shows that 47.2 percent of the candidates who scored from 0 to
2.5 marks, most of them had limited knowledge and skills on Photograph
Reading and Interpretation because most of them failed to provide correct
answers to most of the parts. For example in part (a), some candidates
managed to give the correct type of photograph without giving reasons while
other candidates provided incorrect type of photograph and irrelevant
reasons. For instance, one candidate named the type of photograph as Aerial
photograph and gave irrelevant reasons as; it shows the front part of the area,
it shows the upper part of the area. Few candidates managed to give the
correct type of photograph and the reasons for such type of photograph. For
example, one candidate mentioned the correct type of photograph as Low
oblique photograph and gave correct reason such as;- it covers large area
and it does not include horizons.

In part (b) some of the candidates were able to suggest the type of settlement
pattern without giving factors that has influenced it while others managed to
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name the type, but they failed to give the factor that has influenced it. For
example, one candidate wrote clustered settlement and provided the factor as
availability of social services such as; - water supply, schools and health
services and linear settlement being influenced by linear appearance along
the road respectively.

In part (c) some of the candidates provided social activities taking place in
the given photograph instead of economic activities while other candidates
mixed up one correct economic activity and irrelevant economic activities.
For example one candidate wrote: electricity supply due to the presence of
electricity poles and transport and communication due to the presence of
road, trade due to the presence of small shops, while some candidates failed
to provide economic activities that might be taking place in the area.

Further analysis shows that few candidates in this category were able to give
correct differences between photographs and map in part (d). For example,
some of the responses given by the candidates were such as:

(i) Photographs take a short time to prepare while maps take a
long time to prepare.

(i) Photographs can be interpreted easy while maps cannot be
interpreted easily.

(iii) Photographs do not need scale whereas maps need scale.

On the other hand, candidates who scored 0 mark had poor knowledge and
skills on reading and interpreting photograph, thus they provided incorrect
responses in both parts of the question. The other reason was candidates’
failure to understand the requirement of the question as they responded
contrary to the demands of the question. Extract 8.1 illustrates a sample of
the poor performance in this question.
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Extract 8.1: A sample of responses from the candidate who scored low mark
in this question. The candidates managed to provide relatively correct
responses to part (b) and (c) and incorrect responses in part (a) and (d).

Further analysis from the scripts of the candidates shows that candidates
who scored average marks (3 to 6.5) had inadequate knowledge and skills
on photograph reading and interpretation. In part (a) some candidates were
able to name the type of photograph with reasons. For example one
candidate wrote, Low oblique photograph with reasons such as; - It covers
a large area and features can be seen well, while others provided incorrect
type of photograph with incorrect reasons. For example one candidate
mentioned Aerial photograph as it shows a front view and it shows a top
view, few of them gave correct type of photograph but they were not able to
give reasons. For example one candidate wrote Oblique photograph since it
shows a small area and front view.

In part (b) most of the candidates were able to suggest the correct type of
settlement pattern and the factor that has influenced it. For example one
candidate mentioned the type of settlement pattern as nucleated settlement
due to the presence of favorable relief area. Some candidates were able to
name the type of settlement pattern but they failed to give the factor that
has influenced it. For example, one candidate mentioned the type as
clustered settlement but he/she failed to give the factor.
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In part (c) few of them were able to suggest two economic activities that
might be taking place in the area. For example one candidate mentioned
agriculture and trade. Most of them mixed up correct and incorrect
economic activities such as manufacturing industries and transport and
communication while some candidates failed to provide correct economic
activities that might be taking place in the area. For example one candidate
mentioned lumbering and mining.

In part (d) most of the candidates managed to provide correct advantages of
photographs over maps. Further analysis shows that some of the candidates
failed to provide correct advantages of photographs over maps while others
provided advantages of photographs without comparing to maps. For
example one candidate wrote: Photographs are used for study purposes in
clear observation, they help in determining the type of economic activities
found in a certain area like in the photograph taken naked eye and they
help in determining the climate of a certain area without guessing
respectively. These responses show that the candidates had limited
knowledge on the subject matter.

Few candidates (6.4%) who scored high marks (6.5 to 10) most of them
demonstrated that, they had adequate knowledge and skills on the
photograph reading and interpretation. Majority of them managed to
provide satisfactory answers in most parts of the questions. Majority of the
candidates failed to score marks in part (c) of the question, this might be
because they failed to associate the information/ features observed in the
photograph with the possible economic activities which may take place in
the area while others provided few points in part (d) as required. The
deviation of the candidates’ marks depended on the clarity of their
responses. Extract 8.2 is a sample of a candidates' good response.
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Extract 8.2: A sample of response from the script of the candidate who
managed to answer the question correctly.
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2.4 Section D: Part I: Regional Focal Studies
2.4.1 Question 9: Sustainable use of Forest Resource

This question instructed the candidates to explain five factors which
influence the distribution of natural forests in the world. The question tested
the candidates’ knowledge on factors influencing distribution of forests.

Data analysis shows that this question was opted by 34.6 percent of all the
candidates of which 75,011 (60.4%) scored from 0 to 2.5 marks of which
23,821 (19.2%) scored 0 mark, 37,883 (30.5%) scored from 3 to 6 marks and
11,357 (9.1%) scored from 6.5 to 10 marks. The performance in this question
was average as 39.6 percent of all the candidates scored 3 marks and above
out of 10 marks. Figure 7 illustrates the summary of performance in this
question.
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Figure 7: Percentage of the Candidates’ Performance in Question 8.

Analysis of the candidates’ performance shows that the candidates (60.4%)
who scored low marks (0 to 2.5) were unable to attempt correctly in the
question. The reason behind the poor performance of the candidates in this
question was insufficient knowledge on the major conditions which
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determine distribution of natural forests in the world to some candidates
while others failed to follow demand of the question.

Further analysis from the candidates’ responses shows that, some of the
candidates provided irrelevant introduction and they mixed up correct and
incorrect factors which influence the distribution of natural forests in the
world with irrelevant conclusion. For instance, one candidate wrote factors
for location of industries such as: - availability of transport and
communication, availability of capital, labour power, good reliable market
and presence of enough raw materials instead of factors which influence the
distribution of natural forests in the world. These responses indicate that the
candidate misconceived the question demand. Another candidate wrote the
importance of forests instead of factors which influence the distribution of
natural forests in the world. Furthermore, some of the candidates mentioned
the points without giving explanations while others had repetition on some of
their points such as: temperature and rainfall was repeated with climate, in
real sense climate includes temperature and rainfall. However majority of the
candidates provided points which were not related to the demand of the
question.

The candidates who scored a 0 mark (19.2%) lacked knowledge on the major
conditions which determine distribution of natural forests in the world. They
failed to provide correct introduction, factors influencing the distribution of
natural forests in the world and conclusion. Most of the candidates explained
the importance of forest instead of factors which influenced the distribution
of natural forest in the world. For example, one candidate wrote;- source of
income, attractions to the tourists, source of employment, used for making
medicine and source of home of different animals. Some candidates explained
ways of addressing problems facing forest resources instead of factors which
influenced the distribution of natural forest in the world. For example, one
candidate mentioned controlling population, encourage the use of alternative
source of energy instead firewood and discouraging lumbering. All the
candidates ended up with irrelevant conclusion. Hence poor responses led
them to get such a score. Extract 9.1 represents a sample of a candidate’ poor
responses.
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Extract 9.1: A sample of the response from the candidate who explained
factors influencing the location of industries instead of factors which
influence the distribution of natural forests in the world.
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The candidates who scored from 3 to 6 marks had knowledge on the subject
matter, but their responses had several weaknesses. For example, some
candidates failed to provide correct introduction and conclusion with partial
explanations while others responded with few points as it required with
poor English language. Hence the degree of correctness of the candidates'
responses differed, thus some of them scored higher marks than others.

The candidates who scored from 6.5 to 10 marks (6.9%) were able to
answer this question correctly by providing relevant introduction,
conclusion and explained factors for distribution of natural forests in the
world. For example, most of the candidates provided relevant introduction
of natural forests as; A continuous growth of different trees and
undergrowth covering an extensive area of land without the input of human
being, Moreover, the candidates managed to explain factors which
influence the distribution of natural forests in the world as;- Nature of soils,
amount of rainfall received, human activities, temperature, drainage,
aspect as well as nature of relief, and they ended up with relevant
conclusion. These candidates demonstrated a good mastery of English
Language, which enable them to present their points with good flow of
ideas. The candidates’ responses indicate that the candidates were
knowledgeable on the subject matter. Extract 9.2 is a sample of such good
response.
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Extract 9.2: A response by the candidate who attempted the question relatively
well.
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2.4.2 Question 10: Manufacturing Industry

The question demanded the candidates to analyse five ways of promoting
textile industry in Tanzania.

This question was opted by 57.9 percent of all the candidates of which
34,089 (16.4%) scored from 0 to 2.5 marks of which 10,421 (05%), scored O
mark, 93,034 (44.7%) scored from 3 to 6 marks and 80,851 (38.9%) scored
higher marks (6.5 to 10). The performance in this question was good as 83.6
percent of all the candidates scored 3 marks and above out of 10 allotted
marks in this question. Figure 10 illustrates such a performance.

50
44.7

45
10 - 38.9

35 4

20 4 16.4

Percentage of Candidates
[
LN

0-2 3-6 6.5-10
Scores

Figure 8: Percentage of the Candidates’ Performance in question 10.

Analysis of the candidates’ performance indicates that candidates who
scored higher marks (6.5 to 10) adhered to the demand of the question and
had adequate knowledge on the concept of manufacturing industries. The
question was the most opted and it was performed well by the candidates
possibly due to the fact that industrial activities have been announced in
mass media almost every day in Tanzania with a slogan of “Tanzania ya
Viwanda”. Most of the candidates are aware of manufacturing industries
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development initiatives in Tanzania towards industrial revolution by the
year 2025. The candidates were able to give appropriate introduction of
textile industries as the manufacturing industries that deals with production
of clothes. They also managed to analyse ways of promoting development of
textile industry in Tanzania as: - The poor transport and communication
infrastructure which is vital for the effective operation of any business
should be improved, the Government should support the industry
financially, there is a need for the textile industry to be up to date in terms of
technology, the Government should come up with favorable policies for the
textile industry, market research should be conducted into the development
of new products that give an edge to the textile manufacturing industries, for
example such products include organic cotton products, there is a need to
train adequate labour through establishment of textile related courses in
schools, colleges and universities, also the Government has to review the
regulations on exporting products abroad, this will enable the
manufacturing in the textile industries to export their products without
delays or high costs. Moreover, they were able to end up with relevant
conclusion. In general, the differences in accuracy to their responses
rendered their marks to vary. Extract 10.1 is a sample of good response by
one of the candidates.
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Extract 10.1
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Extract 10.1: A sample of a good response in this question.
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The analysis from the scripts of the candidates who scored from (3 to 6
marks) reveals that most of them were able to mention almost all points
correctly, but they failed to give correct analysis to most of the points. This
indicates that they had partial knowledge on ways of promoting textile
industry in Tanzania. Some candidates managed to provide relevant
introduction and they had partial explanation on their responses while
others provided relevant introduction with two correct points. For example,
one candidate wrote irrelevant points such as;- ensuring of enough land is
posses in different area, to promote low level of science and technology and
to provide job opportunity. Some candidates were able to provide correct
introduction as the industry that deals with production of clothes.
Furthermore, they mixed up ways of promoting textile industry with factors
for location of manufacturing industries such as; government support,
improvement of transport and communication, improved technology,
availability of market, availability of raw materials and availability of
capital. The degree of correctness of the candidates' responses differed,
thus some of them scored higher marks than others.

The candidates who scored from 0 to 2.5 marks had limited knowledge on
the ways of promoting textile industry in Tanzania. For instance, some of
the candidates managed to provide relevant introduction with some few
correct points without conclusion. Other candidates failed to provide
relevant introduction and conclusion and managed to provide one correct
point and other points were incorrect. For example, one candidate wrote
incorrect points such as: - lead to investment and marketing, lead to skilled
labour, lead to raw materials and lead to capital while other candidates
provided relevant introduction and conclusion and managed to give two
correct and some irrelevant points such as: - to give people employment, to
transport materials from one place to another and pay the loans of the
government.

However, few candidates who scored 0 mark (5%) failed to score any mark
in this question as they failed to meet the demand of the question. This
indicates that they lacked knowledge on ways of promoting textile industry
in Tanzania. Most of the candidates in this group showed poor essay
writing skills. Extract 10.2 reveals poor responses in this question.
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Extract 10.2
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Extract 10.2: A sample of response from the script of the candidate who
provided problems facing textile industry instead of ways of promoting
textile industry in Tanzania.
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Part I1: Regional Focal Studies

2.4.3 Question 11: Settlements

In this question the candidates were required to describe seven problems
associated with rapid urbanization.

This question was opted by 62.4 percent of all the candidates of which
43,427 (19.4%) scored from 0 to 2.5 marks of which 7,785 (3.5%) scored 0
mark, 119,027 (53%) candidates scored from 3 to 6 marks and 61,822
(27.6%) scored high marks from 6.5 to 10. This question was the most opted
in this part and the candidates’ performance was good as 80.6 percent of all
the candidates scored 3 marks and above out of 10 allotted marks. Figure 9

illustrates the performance of the candidates in this question.
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Figure 9: Percentage of the Candidates’ Performance in Question 11

The analysis of the candidates’ performance shows that 27.6 percent of
candidates who scored high marks (6.5 to 10) proved to have adequate
knowledge on the concept of growth of settlement especially on social and
economic problems associated with urban growth. Most of the candidates were
able to describe the problems associated with rapid urbanization as required.
However some of the candidates were not able to exhaust all the required
points. Moreover, most of the candidates from this category showed good skills
in essay writings as they provided relevant introduction and conclusion. For
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instance, they described problems associated with rapid urbanization like; -
Shortage of houses, poverty, unemployment, environmental degradation,
inadequate social services, criminal offences, traffic congestions and increase
number of street children. Disparity of their responses led the candidates’
scores to vary. Extract 11.1 represents a sample of a candidate who attempted
the question correctly.
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Extract 11.1
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Extract 11.1 illustrates a sample of such a good response from the candidates’
script.

The analysis of the candidates’ responses shows that 5.3 percent of the
candidates with average marks (3 to 6) had several weaknesses in their
responses. Most of them were able to describe some of the problems associated
with rapid urbanization while others highlighted the correct points but they
failed to provide correct description to some of the points. Further analysis of
the candidates’ responses shows that some of the candidates provided few
correct points as required with partial explanations while others provided
repetition of the points. For example one candidate repeated some points such
as: - air pollution as a point and noise pollution as independent point, land
degradation as a point and soil erosion as individual point. Moreover, most of
the candidates were able to provide relevant introduction and conclusion to
their essays. The degree of accuracy of candidates' responses differed; as a
result some of them scored higher marks than others.

On contrary, few candidates (19.4%) who scored low marks had limited
knowledge on the concept of social and economic problems associated with
urban growth. Most of these candidates failed to provide correct descriptions
on the problems associated with rapid urbanization hence they scored low
marks. The analysis of the candidates’ responses shows that most of the
candidates failed to provide relevant introduction and pinpointed few correct
problems associated with urban growth instead of describing the points without
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conclusion. For example one candidate wrote shortage of resources, decrease
in supply of labour in agriculture and political instability. Their incompetence
in essay writing skills and the use of English language led them to score low
marks.

It was further noted that, 7,785 (3.4%) of the candidates absolutely failed to
score any mark in this question. These candidates lacked knowledge on the
concept of social and economic problems associated with rapid urbanisation.
Majority of them failed to describe the problems associated with urban growth
while some misconceived the demand of the question and they had poor skills
in essay writing. For example, one candidate defined migration in introduction
instead of urbanisation, then he/she highlighted the effects of rural urban
migration instead of describing the problems associated with rapid urbanisation
such as: decline in economic activities, depopulation, separation of family,
decline of agricultural production and decline of man power. The candidates’
responses show misconception of the question demand. Extract 11.2 shows a
sample of a poor response from a script of a candidate who misunderstood the
demand of the question.
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Extract 11.2
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Extract 11.2 indicates a sample of a poor response from the script of the
candidate who performed poorly in this question. He/she wrote causes of

migration (pull factors) instead of problems associated with rapid
urbanization.
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2.4.4 Question 12: Environmental Issues and Management

This question required the candidates to examine seven effects of climate
change in the world.

This question was opted by 25.5 percent of all the candidates of which
49,751 (54.6%) scored from 0 to 2.5 mark, 35,407 (38.9%) scored from 03 to
6.5 and 5,933 (6.5%) scored from 7 to 10 marks. The performance in this
question was average as 45.4 percent of all the candidates scored from 3
marks and above out of 10 allotted marks in this question. Figure 10
illustrates the performance of the candidates in this question.
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Figure 10: The percentage of the Candidates’ Performance in Question 12.

Few candidates (6.5%) performed well in this question as their marks ranges
from 6.5 to 10 marks. The candidates proved to have knowledge on the
concept of growth of settlement especially on social and economic problems
associated with urban growth. Few candidates (27) were able to score all the
10 marks allotted to the question. Extract 12.1 represents a sample of a
candidate who attempted the question correctly.
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Extract 12.1
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The analysis of the candidates’

to

Extract 12.1: A sample of a response from the candidate who examined

effects of climatic change in the world correctly.
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responses indicates that most of the
candidates who scored average performance (38.9%) in this question failed
exhaust fully the required points demanded by the question. This



demonstrated that they had inadequate knowledge on the environmental
problems mainly on the causes and consequences of global climate change.
Additionally, some of the candidates managed to highlight few correct
points but they failed to explain the points while others provided correct
points but they examined unrelated points. For example, observation from
responses of the candidates showed that some of the candidates mentioned
correct points such as: Traffic jam, shortage of job opportunities, Increase
of crime, development of squatters and slums, but they failed to give
satisfactory explanations to the given points.

The candidates (54.6%) who scored from 0 to 2.5 marks most of them had
insufficient knowledge on the environmental problems particularly on the
causes and consequences of global climatic change as they were unable to
answer the question as required. Moreover, some of the candidates did not
adhere to essay writing skills while others lacked English Language
proficiency. For example, one candidate wrote incorrect points as; - bad
condition of weathering, waste disposal, deforestation, green house effect,
poor infrastructure and ozone layer. Some candidates provided few
relevant and irrelevant points with irrelevant conclusion as; - climate
change leads to acidic rain, climate change leads to industrialization,
climate change leads to the loss of biodiversity and climate change leads to
soil erosion. The weaknesses of their responses led them to score low
marks. The candidate who scored a 0 mark (15.1%) absolutely failed to
meet the demands of the question. Extract 12.2 is a sample of a poor
response from the script of a candidate.
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Extract 12.1: A sample of a response from the candidate who explained the
types of climatic regions instead of effects of climatic change in the world.
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3.0

4.0

PERFORMANCE OF THE CANDIDATES’ IN EACH TOPIC

The analysis shows that the Geography paper had 12 questions set from 16
topics. Those topics are, Weather, Forces that affect the Earth, Soil, The
Structure of the earth, Solar System, Climate and Natural Region, Map Work,
Application of Statistics, Introduction to Research, Elementary Surveying and
Map Making, Map Reading, Photograph Interpretation, Sustainable use of
Forest Resources, Manufacturing Industry, Settlement and Environmental
issues and Management.

The analysis shows that the candidates had the good performance of 83.6 in:
Manufacturing industries topic. Generally, the candidates performed well in
this topic. Other topics which candidates got good performance were
Settlements (80.6%0), Introduction to Statistics (62.7%) and Weather, Forces
that Affect the Earth, Soil, Structure of the Earth, Solar System, Climate and
Map Work (Which were examined in multiple choice items) 78.8%. Good
performance in Manufacturing Industries topic was due to the fact that issues
related to manufacturing industries have been announced in mass media in
Tanzania every day with the slogan of “Tanzania ya Viwanda”.

Further analysis shows that the candidates in five topics had the average
performance. The topics were: Structure of the Earth (54.3%), Photograph
Reading and Interpretation (52.8%), Environmental Issues and Management
(45.4%), Sustainable Forestry (39.6%) and Introduction to Research
(33.5%0).

Nevertheless, the candidates in three topics had the poor performance which
they were tested in questions 3, 6 and 7. The topics were; Forces that Affect
the Earth (External- forces), which was examined in short answer questions
(5.2%) Map Reading and Interpretation (13.1%) Elementary Survey and
Map making (29.5%)

CONCLUSION

The analysis done in the CSEE 2018 results for the Geography subject shows
that, the general, performance was average since 53.03 percent of the
candidates passed the examination. The analysis shows that the candidates
had good performance in four questions, question 1, 4 10 and 11. The
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5.0

candidates in this category had wide knowledge of the topics from which the
questions were derived, they had good mastery of English Language, ability
to understand demand of the questions and skills in reading and interpreting
information from Topographical map, Photograph and Statistical Graph
given. On the other hand, the candidates had average performance in four
questions, which were question 2, 5, 8, 9 and 12. They also had weak
performance in three questions, which were question 3, 7 and 12. The
average and poor performance in some questions were mainly caused by
inadequate knowledge on the subject matters, poor skills in Map Reading and
Interpretation, failure to understand demand of the question, poor mastery of
English language and essay writing skills which hindered them to score
higher marks.

RECOMMENDATIONS

In order to improve the performance of the prospective candidates in this
subject, the following are recommended.

(i) Teachers are advised to guide the candidates on how to identify the
tasks/requirements of the questions.

(i) Candidates should be encouraged to read different sources (books,
journals and pamphlets) in order to widen their knowledge in all
topics and different Geographical concepts.

(iii) Candidates should be encouraged to use English language in their
day to day communication so as to improve their language skills

(iv) Teachers should guide candidates in writing skills so as to make their
expressions logical and meaningful.

(v) Practical activities in different topics, such as Introduction to
Research, Elementary Survey and Map Making, Introduction to
Statistics, Map Reading and Interpretation should be emphasized so
as to improve students' skills on drawing, measuring and calculating.

(vi) Teachers and candidates should have exposure to spatial relationship
and distribution of geographical phenomena in relation to the
geographical study.
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Appendix

Comparison of Performance of the Candidates’ Topic wise in Geography for
the CSEE in 2017 and 2018

SN

Topic

2017

Percentage
of the
candidates
who scored
30 marks and
above.

Remark

Question
Number

Manufacturing
Industries

49.12

Average

Settlement

Multiple  choice
items from the
following topics:
Weather,  Forces
that Affect the
Earth, Soil,
Structure of the
Earth, Solar
System, Climate,
Map work.

Application of
Statistics

None

None

Average

Structure of the
Earth

None

None

2018

Percentage  of
the candidates

who scored 30
marks
above.

and

54.3

Remark

Average

Photograph
Reading and
Interpretation

41.27

Average

52.8

Average

Environmental
Issues and
Management

None

None

45.4.

Average

Sustainable
forestry

Introduction to
Research

10.

Elementary survey
and map making

None

None
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39.6

Average

Average




2017
Percentage
of the
SN Topic candidates Remark
who  scored
30 marks and
above.
11. | Map Reading and 39.1 Average
Interpretation
12. | Forces that Affect

the Earth

68

Question
Number

2018

Percentage  of
the candidates

who scored 30
marks
above.

and

Remark







